


Step #1

Prepare lock stile.

BOLT GUIDE LAYOUT

LH KRB
-
—~——————/FADING FDGE OF DOOR STILE ‘4>
~—1.5
j—— 1.3
—={ 0094 149>
—m (.74 ! 0.73 fw—-—o

0.4680

j
Pyrai]

0.5620

— ]

1B
)

= 112 =

|
1710

S
T T W T | ween usinG Lok, ®

[ \‘\

17 I T s
1.4000 | : 12-2t (8) : © abes
‘ P P _ % % ‘

0.4290 3T
\
I

N
w
|

:

P
— {0 G —
—= 1.4948 +—

= 1.7068=

Copyright © 2008, Advanced Hardware Technology



Step #2

Install Rod & Case assembly into active stile.
Secure with 2 ea. 8-32 x 1/4 soc. hd. cap screws.

Copyright © 2008, Advanced Hardware Technology

A
=

Active Stile

Install spacer per drawing.



Step #3

Install Top & Bottom Strikes.
Secure with 2 ea. 8-3/4(19) self tap screws.

HEADER

S

Active Stile /
D

Copyright © 2008, Advanced Hardware Technology



NOTE: If trim or cylinder are

not being used, skip this step. Ste p #4

Install Trim and Cylinder.

Install one 8-32 pan hd. screw partially to suit nominal wall thickness of 1/8” or 3/16”
| it locks into position. Install single

Install pad assembly and rotate clockwise unti

8-32 x 1-15/16” screw and tighten.

NOTE:

Use 8-32x5/16 pan hd. on 1/8” wall thickness

Use 8-32x5/3/8 pan hd. on 3/

REQUIRED CYLINDER

1" MORTISE WITH CAM PROFILE AS SHOWN
BELOW.

18/.19(5/5)
i

.562(14)_500’(20) OF _CYLINDER
SIS M
t ®®
625(16) o )
SCREW  NOTE (5)

LOCK CYLINDER
(SUPPLIED BY OTHERS)

_LOCK_CYLINDER
MTG. PAD & LOCK RING
ROD_& CASE A§§'Y/

\\ %)
\‘
N

16” wall thickness

&
S~

m Active Stile \

Copyright © 2008, Advanced Hardware Technology

£



Step #5

Panic Attachment.

Undog panic device per dogging instruction label on active cover.
Remove front and rear end base covers by releasing 6-32x3/16(5) & 12-24x1-1/4(32)
fillister hd. screw through chassis and one 8-32x1-1/4 soc. hd ms,
secure inactive end with single 1/4-20x1/2(13) round hd. ms. (phil.) with sems
through inactive base plate. Proceed by re-installing base cover on each end of panic base.

BASE PLATE
INACTIVE COVER

4

ACTUATOR LINK—

4

DOGGING ACCESS HOLE

PANIC_TOUCH BAR

DOGGING_INSTRUCTIONS LABEL LHRB (SHOWN)

8-32x1—1/4 SOC. HD. MS.

NOTE: or for heaver wall extrusion
use 8-32 x 1 3/8 SOC HD MS

Copyright © 2008, Advanced Hardware Technology



Step #6

Adjust Top & Bottom Bolts.

Adjust Top & Bottom Bolts allowing for 1/2"(13) of bolt to extend from vertical stile.
Install bolt guides top & bottom with (2) each #10x1/2(13) FL. HD. self-tapping screws.
Depress push bar, top bolt should lock in the retracted (unlocked) position. If locking does not
occur readjust bolts in half turn increments until locking occurs. Verify operation by fully depressing
touch bar to achieve dogging or full retraction of bolts.
Top Bolt Adjustment:
Release top and bottom bolts by depressing trigger on top bolt guide assembly.
Position top bolt 1/2°(13) from top edge of active stile.
Bottom Bolt Adjustment:
Fully depress push bar, retracting top and bottom rods. Adjust bottom bolt per detail “B”
Manual Check:
With top and bottom bolts fully retracted, depress trigger release, rods will then extend to the locked position.
Install trip bracket and adjust set screw so that when door closes, top bolt guide trigger contacts set
screw and allows bolts to extend.

Active Stile

Copyright © 2008, Advanced Hardware Technology






	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

